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| 0.60
|
- ——— T LT 10000000 O O e q 0.50
OBOIl\\ I i s‘i\ . e, E ........ : :“
I~ _\%. : \ ' 0.40|
|i ~. .\,\ | \ - ERM (train. only)
! I \\ N |§\.\ | \l - — BLR (adapt. only)
| \ 4 i\ 0.301 ‘.. BLR-LC-0.3_Nadapt
NN TN N ~ - BLR-LC-Nadapt
\ N N !
: T \| ]r '\[ "\ ===+ BLR-LC-N_train
o0l i 3 NN " | —-- BLR-Prior-1
. . ‘.‘-"' fr=r = |.!‘\ Ii'!' . i N\ . wn 0.20 | .
b . '\\ |: N, \, = Y —-= BLR-Prior-10
- H i i N N !\ 0 —{-= BLR-Prior-3
TS AN NN g —f— CBLR-0.0
. L ‘\i \ ! \‘ \ BLR' . 5
| L R R ~J— CBLR-0.1
! R R N Y ;
L TN ‘ -~ CBLR-0.2
i\ -~ CBLR-0.4
0.100 A
0.09;
0.08;
0.07 1
0_10 T T T — T T T T T ™ T L B T T |: 0_06 T T T — T T T T T ™ T L B T T T
2 4 8 16 32 64 128 256 2 4 8 16 32 64 128 256

N_adapt N_adapt



